Homework 18

Math-1700-es31

9.9.12 Since

$$\sin x = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1!},$$

it follows that

$$x^{2}\sin x = x^{2}\sum_{n=0}^{\infty} (-1)^{n} \frac{x^{2n+1}}{2n+1!} = \sum_{n=0}^{\infty} x^{2} (-1)^{n} \frac{x^{2n+1}}{2n+1!} = \sum_{n=0}^{\infty} (-1)^{n} \frac{x^{2n+3}}{2n+1!}.$$

9.10.29 Since

$$e^{x} = \sum_{n=0}^{\infty} \frac{x^{n}}{n!} = \frac{x^{0}}{0!} + \frac{x^{1}}{1!} + \frac{x^{2}}{2!} + \sum_{n=3}^{\infty} \frac{x^{n}}{n!} = 1 + x + \frac{1}{2}x^{2} + \sum_{n=3}^{\infty} \frac{x^{n}}{n!},$$

it follows that

$$\frac{e^x - (1+x)}{x^2} = \frac{\left(1 + x + \frac{1}{2}x^2 + \sum_{n=3}^{\infty} \frac{x^n}{n!}\right) - (1+x)}{x^2} = \frac{\frac{1}{2}x^2 + \sum_{n=3}^{\infty} \frac{x^n}{n!}}{x^2} = \frac{1}{2} + \sum_{n=3}^{\infty} \frac{x^{n-2}}{n!}.$$

Since n-2 is positive for $n \ge 3$,

$$\lim_{x \to 0} \frac{e^x - (1+x)}{x^2} = \lim_{x \to 0} \left(\frac{1}{2} + \sum_{n=3}^{\infty} \frac{x^{n-2}}{n!} \right) = \frac{1}{2} + 0 = \frac{1}{2}.$$